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The paper is evaluated - I DR PR

Overview

The &3 now assumes that the three way np12mn regarding one who says 2 *w7pnn
w3, is where he was wpn her with a w1 7°p 0w, but there were no 772°ni 7Y on
the "vW. "7 maintains >n73 72°00 27V, so it is an invalid W (therefore nwTpn 7I°R),
while X" maintains *n72 77°07 *7¥ and it is a valid 70w (and she is nwTPn), and the
o°non are in doubt whether >n7> 7n N7 7Y or °n02 17°07 27V, therefore if the VY is
5", she is 102 17 NWTIPH, but not VW 7. Our N1dOIN discusses what 2'"1 maintains
regarding a "vw which is 8", and the difference between *&71 w17 and 250 WI7p.
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And it is only according to the 312 that we say the paper should be evaluated if
there is a 8" -
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However according to »''1 even if the is a 'Y in the paper, she is not nwTpn -
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For »"7 maintains the 1'"'y make the 272 effective.

NdOIN asks:
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And if you will say; according to the j129, why is it necessary to evaluate the
paper, for -
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Even if there is no 2" in the paper, she is still ppon npwTpn like X' who
maintains >n> 2"'y?

NID0IN answers:
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And one can say; that if the paper was a 2" it will be effective for this, that she
is pwTPn with complete PRTp

! The reason she is not NwTPn according to n"7 even if the "W is a "W, is because »"7 maintains that when he is
wpn her with a w17°p 0w, she pays no heed to the value of the qvw, so there can be no 703 *w17°p. However, Noo1n
is explaining where do we see that »n"1 maintains that she is not nwTp» even if the 70w is a 8", because n"7 said 7R
nwTpn (without any qualifications) and the X3 surmised that s"" reason is because °n1> 1"y, this means that by
oY w1 p she is only nwipn if there are "y, regardless how much the qvw is worth. See X"wamn 2" wamn.

2 See previous 11271 7"7 '01n. See ‘Thinking it over’ # 2.

3 If someone else is WTpn her afterwards, she needs no v3 from the second wpn since she is NwTPn X7 to the first.
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However if the paper is not "y, she is only ppen nwipn, regarding that if she

was w7pn: by a another person she will require a v3, from the second person, because
we are not certain whether the 1217°p from the first one was valid (according to X"9), so she cannot
live with the second one, or perhaps the 1w 7P from the first one is not valid (according to »"9),
and she is nwTpPn to the second one. Therefore the second one must give a v3, to enable her to
remain married to the first one.

Summary
According to n"1 she is not NwTPn even if the VW 1s 5™Ww. A PWITP o0 requires the

second to give a v if *1wH AWwIPNI, but not by a PYITR X7,

Thinking it over
1. Is there any connection between NvoIN introductory remarks (that according to
n'"7 she is not NWTIPR even if 9"w W), to N1OOIN subsequent question (and answer)?

2. Was n901n in his question® unaware of the difference between *XT1 >w17°» and
PDo WNTP?!6

4 mooin seemingly means > Awpni, for if 21w nXw1 the rule would be 71 7 X¥N (since she is a WX WX P90 and
if (11%12) Mo°Ra 7YY, she is Y1291 H¥2% 770R).

3 See footnote # 2.

6 See mwn noma.
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